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	Activity 
	Time
	Activity 
	 Time

	A
	7
	F
	2

	B
	3
	G
	6

	C
	8
	H
	5

	D
	4
	I
	4

	E
	6
	J
	2



A. Critical path.  In the network diagram of the project, there are many paths that can be taken from the beginning of the project to the completion of the project. he critical path method is used to estimate the shortest project duration in the schedule model and determine the schedule flexibility of the logical network path. This schedule network analysis technology uses forward and backward push along the schedule network path without considering any resource constraints , and calculates the earliest start ES, earliest end EF, latest LS, and latest LF of all activities date.
B. The earliest and latest start and end dates obtained are not necessarily the project schedule , but only the established parameters (activity duration, logical relationship, lead, lag, and other known constraints) are entered into the schedule A result obtained after the model indicates that the activity can be implemented during this period.
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	ACTIVITY
	ES
	EF
	LS
	LF
	ACTIVITY
	ES
	EF
	LS
	LF

	A
	0
	7
	0
	7
	F
	15
	17
	15
	17

	B
	7
	10
	8
	11
	G
	17
	23
	17
	23

	C
	7
	15
	7
	15
	H
	15
	20
	18
	23

	D
	7
	11
	11
	15
	I
	23
	25
	23
	25

	E
	9
	15
	11
	17
	J
	25
	27
	25
	27



Slack time
C. It is time duration in which an activity may delayed from earlies completion time but there will be no effect on current completion time.

	Activity 
	Slack time 

	A
	0

	B
	1

	C
	0

	D
	4

	E
	6

	F
	0

	G
	0

	H
	3

	I
	0

	J
	0



On the critical path activity we ha equaling EST AND LST. It shows that both the rows with equal values show earlier time and critical time for this project.
D. For the bonus of $400  , daily saving will be $400 because one single activity crashes with I  and that is C.
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‘Ehrliest Start Time (ES) = the earliest time that an activity can begin
Earliest Finish Time (EF) = the earliest time that an activity can be completed

= EF=ES + duration of activity |

Lastest Start Time (LS) = the latest time that

an activity can begin without lengthening the minimum project duration
Latest Finish Time (LF) = the earliest time than an activity can be
completed without lengthening the minimum project duration

= LF=LS + duration of activity |

Duration of the project = the difference between the maximum value of the "lastest,
finish time"" of projects and the minimum value of the "earliest start time" of projects

Project duration = max(LE) - mn(rs)l

Slack = the amount of time that a project can be delayed without increasing
the duration of the project

Critical activity = an activity in the project with slack = 0

Le: critical activities have no slack, when such project is delayed, the duration of the
‘project will increase




